RIVMER

A BRITISH COMPANY SUPPORTING BRITISH CARS

COLD AIR INTAKE

MGA & MGB with twin 1 12” SU Carburetors

Part Number: RP2183

TOOLS REQUIRED

X2 ¥2” COMBINATION WENCHES

X1 8MM SOCKET AND RATCHET OR NUT DRIVER

Take note that this cold air intake has been designed to use only the outer bolt hole to attach to each carburettor.
The CAl is very light and is easily held in place with one bolt on each side.

1) Remove the air filters from the carburetors. (HF carburetors shown)

2) Place the band clamp around the open end of the air filter. Install the air filter on the cold air intake (CAl)
tube. Leave the clam loose for now. For MGA, the filter must be aimed in a specific direction to clear the
body of the car and allow for engine rock. lllustration 2 is the general direction the filter needs to point for
MGA.

For MGB the filter orientation is not as critical and just needs to aim down in front to clear the hood. Do not tighten
the band clamp until the last step to allow for slight adjustment once the CAl has been mounted.

Figure 2
7 T

3) Test fit the CAl assembly to the car. Adjust the filter
as necessary to make it clear the body of the car

Quality Parts and Accessories for

L ‘® T = ‘
=0 © @D Y T Jus

Triumph House, Sleaford Road, Bracebridge Heath, Lincoln LN4 2NA,
Télephone: 01522 568000 | E-mail: customer.services@immerbros.com

www.rimmerbros.com

Registered in England No. 2155394



http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com

RIVMER

A BRITISH COMPANY SUPPORTING BRITISH CARS

3) Test fit the CAl assembly to the car. Adjust
the filter as necessary to make it clear (body
of the car)

4) HIF carburettors with UNC threaded
holes:
Select the coarse threaded bolts that fit your
carburettors from your kit. Place a lock
washer on each bolt. Thread the bolts
through the CAI and into the carburettors.
Be sure to place the gaskets between the
CAl and the carburettors.
Do not over-tighten. Usually, a bit more than
hand tight is perfect.

HS carburettors with non-threaded holes:
Select the three fine threaded bolts from
your kit. The U-shaped air cleaner support
for the front carburettor. It will need to be re-
used since it forms part of the choke linkage.
Take the shortest bolt and place it through
the gasket then into the right side of the
carburettor (do not use a washer). A drop of
blue loc-tite on this bolt is a good idea.
Temporarily hand thread the longest bolt into
the other side to hold the gasket in the
proper place. Tighten the right hand bolt
down, then remove the long bolt.

Place a lock washer over the long bolt and
install into the CAl. Pass the bolt through the
hole in the carburettor and into the threaded
air cleaner support. Loosely tighten

for now. The right hand bolt may need to be
repositioned slightly tighter or looser to clear
the outside of the CAl. Alternatively, you can
install the short bolt through the rear of the air =
cleaner bracket, then install the bracket '
to the carb.

()] o — o) .

& D Y { )
TRIUMPH | \ |
Nyt \

¢ = A\ —

Triumph House, Sleaford Road, Bracebridge Heath, Lincoln LN4 2NA,
Télephone: 01522 568000 | E-mail: customer.services@immerbros.com

www.rimmerbros.com

Registered in England No. 2155394



http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com

RIVMER

A BRITISH COMPANY SUPPORTING BRITISH CARS

On the rear carburettor, install a flat
washer on the remaining bolt. Pass the
remaining bolt through the CAl and line
up the gasket. Install a fine threaded
nut and lock washer. Tighten both
sides. Do not over tighten. Tighten only
enough to compress the lock washer.

H Carburettors with non-threaded
holes:

Installation is similar HS carburettors
above but there is no air cleaner
support bracket to worry about. Install
a fine threaded bolt and a flat washer on both sides. Pass through the CAl and line up the
gasket. Secure the back side of both with a lock washer and nut.

5) Now that the CAl is installed, make final adjustments to the position of the filter. Finally, tighten
the band clamp with an 8mm socket or nut driver.

Description QTy

AIR FILTER, COLD AIR INTAKE
COLD AIR TUBE

GASKET, CARB TO AIR FILTER
BOLT, 5/16-24 X 4.5,GRD 5,ZINC
BOLT, 5/16 UNF X 1 1/2

BOLT, AIR FILTER, 5/16-UNCX4.5
BOLT, 5/16 UNF X 1, G5 1
BOLT, 5/16-18 X 1.5, ZINC

-

N P g P

WASHER, FLAT, 5/16 -
WASHER, LOCK, 5/16 IN 2
NUT, 5/16 UNF, ZINC PLATED 2
NUT, STANDARD. 5/16 UNC 2
INSTRUCTIONS, COLD AIR KIT 1

Quality Parts and Accessories for

£ 3y N —_ 3
&, Vi .> { |
DA @ Y AGUAR
TRIUMPH X \
‘5 & M @ ‘@ \\ { lHICLES from 1995
el NS AroRTeD. A ~ .

Triumph House, Sleaford Road, Bracebridge Heath, Lincoln LN4 2NA,
~ Télephone: 01522 568000 | E-mail: customer.services@immerbros.com

www.rimmerbros.com

Registered in England No. 2155394



http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com
http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com
http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com
http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com
http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com
http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com
http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com
http://www.rimmerbros.com/
mailto:customer.services@rimmerbros.com

